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Questions

Ifa, b € Rthen only one oaf a = b or a<b or a>b holds is called:

Question Image

Which of the following sets have the Closure Property w.r.t addition.

Imaginary part of -i (3i+2) is:

Real part of 2ab(i + i2) is:

Every real number is:

The value of {278

The conjugate of 5+ 4i is:

Question Image

Question Image

Write 423with radical sign
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Answers Choice

Trichotomy Property
Transitive Property
Additive Property
Multiplicative Property

Additive identity
Additive inverse
Multiplicative identiry
Multiplicative inverse

{0}
{01 '1}
{0,1}

2ab
-2ab
2abi
-2abi

a Positive integer
a rational number
a negative integer
a complex number

1
-1
i

-i

-5 +4i
-5 - 4i
5-4i
5 +4i

5/4
4/5
-5/4
-4/5

3

1/3

35

None of these
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X
X<sup>7</sup>

. X <sup>1/7</sup>
X<sup>7/2</sup>

1-by-3
3-by-1
3-by-3
2-by-2
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